2910/ 21 F () T - IR - R RO R (— A1)

Bethan  FoERE RS #5500 TR LR TFERSGRES) K &k 17120712
+ i (A HRTRE S mislibE BB s BH = —R: 123250
R By —FVTYREZ DT A
(iG] 1 2 3 4 5 6
M |HO madl 2 12.73) 0K Bk 2 13.42| Tk vy 1 14.09((0MH Zés T 15.66
100m JR:+0.9 | REE R Bt} 55 A AR
P EES] 3 12.80[fEiE A7k 2 13.22|=H Fixb 1T 13.92|%K G 2 14.33[% L AR 1 1473 L B 1 14.98
A+ |FEEH AT P FERE N R KL EE AR
3 [V T4 2 12.48|1EfE /B 1 13.57|I0F & T 13.96|& A T 14.26|7C0E T4 1 14.64|/AA ETRT 3 14.73
R4 | AR AR iR ﬁﬁ% AR R AFEHREE
1R [JITE WA 3 25.32|1EiE ek 2 27.93[IUTF & 1 29.36|8aAK KRk 2 29.96
200m JR:+0.8 | FERR AR AT A A iR
o (BP0 mAIL 2 26.47|00 FAE 1 2721 =H Fi#p 1T 28.75|0E mfE 2 29.12| L b\ 1 29.38
JB+0.2 BRSNS AT A LR N AFEHAR A E PERE N
1L |ERE 2T 1 1.03.07[#K B 2 1.08.19[#& M FE 1 1.11.34
400m H?J* EPH%m iR it} 55
1# 1 2.32.09[/0VER RE&E 1 2.43.60[F210 THY 1 2.49.53
800m Eﬁzﬁ)@ﬁf%{?—m AFEEAR A B KL EE
14 |RE BT 10.40.31 |75/ D5H 3 10.42.28[FKH 72 DIX 10.59.29| _F H MEF] 3 112823 I iZ¥E 1 11.47.86
3000m ;ﬁ/ﬂijﬂ‘ﬁ%@éﬁ AT AP Eﬁ/ﬂikﬂﬁ%#—ﬁ ST R A ST R A
100mH R[S fIfEZR 2 16.30[FeE &)Y 1 16.96[5%H £F 1 17.37)iim fEthyy 100 17.78
(0.84m 8.5m) | Jl:+0.8 | BEYEATH I SAVE ) iR Bt} AFEHAR A
1% [ERTIREER 5172 KE &8 54.43 | Il 5 55.27 [T L ok 5y 56.38
4X 100mR = N 1 1 AL ik 2 KA A 1 Vefg AR 1
W FE 1 A BR 1 K R 2 Vefg #5879 1
B FifEZds 2 AME B 2 fkH AUt 1 A K 2
TE(% FRTRIA 1 TET(% 5'%5'% 2 /ru# %ﬂ% 1 %* EJFEE\ 1
AL [ROER TR 20 4.21.32 R s 4.39.91 | il e 4.41.36
4X400mR B FifEds 2 Vr% #ETH 1 K R 2
= N 1 1 M e 1 AN 2
W & 1 M% ez 1 W L 1
LB Loy 2 ghoK WEEL 1 fikH HAE 2
JETIN T = T ) 1m40
A Bk AR HHRA B
1% IR B 1 4m97|[ AR B 1T 4md5|—F xR 1 4md2|[RAPEBHEHZ 1T 4m20
JE Bk FUERTREES  +1LATRES +1.0|fEEm +1.6 | il = +1.2
[ RES IET AN 53 2 Sm46|Ed FEifE 1 7m76
(4.00kg) Bl 5 Bl 5




